L

T 866 x'D" |

7;13’*

,7 1"

TILE ROGF 3 Bad

| ?1{3" |

MINIMUM RADIUS CONCRETE SLAB

DO NOT USE ABOVE DIMENSIONS
TO SET ANCHOR BOLTS. Tmzsa |
DIMENSIONS ARE GIVEN FOR
REFERENCE ONLY. LOCATE ALL
ANCHORS & CONCRETE FORMS

' FROM THE CENTER OF THE I-IEX

to esshewn omy These: loads &ppiy to Open
oads @ 100 mph and kve Iaads@ 30# per sq ft. See

'MENTS SEE OTES FOR DESIGN. i i .
4

. SEE

'REQUIREMENTS. !
- NOTES FOR DESIGN.

CENTER OF HEXAGON
SET 1/2" STEEL PIPE.
| LOCATE ALL ANCHORS
'& CONCRETE FORMS
FROM CENTER OF HEX.

-3/4"x 14" LAG
ANCHOR Wi 4'LEG

EPTH OF FOOTINGTO

LAcAL CG”EANDSITE

A
D

'REQUIREMENTS.

- REVIEWED & £

APPROVED

b ?

SULLIVAN, PE.
& ASSOCIATES
902 W. 9th ST.
UPLAND, CA 91786-4542
BUS. (909) 9468576
FAX (909) 9464924

RADIUS ANCHOR BOLTS

[ PROIECT _poLigon cox i6,20,8:28: G 16620 |

 obs-0228 Of U

2843-0232 104

12-3 18" NOTES

: —— e DESIGN OF FOUNDATION TO BE DONE BY AN ENGINEER OR ARCHITECT. THIS
+ GCX 28 13‘»7314*‘ 14'-4" DRAWING IS NOT INTENDED AS A FOUNDAT!GN DESIGN, AND IS SUBMITTED AS A

o azmez2l : ~ - AEFERENCE AS TO MINIMUM CONGCRETE SLAB DIMENSIONS AND ANCHOR BOLT m TeEIVE
A TOLERANCE: ALL DIM +or- 14" | " LOCATIONS ~ i

© Ginle ANCHOR RAPIUS WAD T-1%52" ¢V 1-20- 92 ' Uﬂ FEB - 9 1995

}Q . ) ) Iy NP Jad OE. BOL ) BiR & 5’? ] -99. ' : ‘ )

@ COBIN [ ANHORBOLT § A DI APPED BBV (35 CONCRETE TO BE A MINIMUM 2000# W/ A MAXIMUM 4' SLUMP. ALL ANCHORS TQ z!
BE 3/4"x 14" LAGS W/ A 4" LEG, GRADE 5 CAST IN PLACE ANCHOR BOLTS. L

992 W. 1L PORTER, INC.

R &

w
|

Z

o

it




PATERT FPENDI~CG

16 # 282 - 429

FOR FOAME CORNELCTION DETALS, . | - o
L B eNT 2 D B B

oo |

XXX

R
i

Zin- 1153
211-119%

213 - 1192 — |
ION RINIG W/ TOP RAL.

i
0

COMPRESSION RING
COLUMN 212 - ||1a4

TENS
&

TRUSS

@ PURLH (212 - 705 ) AL sTEEL oMLY
TRUSS TAIL

mw&@ RAIING 212-]19)]

Y EBEIUE [
FEB - 9 1995

LOPY RAGaWT 1990 W H. PORTER. | (=i,

PARK & RECREATION

A PLANNING & DESIGN

FOR. “WARER

DATE

REVISION
DESCRIPTION

BY

CK'D

1-2-92

PERMOVED ¢ OmnELT ion) DR TBis

FLn

'W. H. PORTER, INC.

HOLLAND, MICHIGAN

O 3

{-2-92

ADDED PURLIN FOl- AL STEEL.

22 o .

FRAME ASSEMEBILY

DRAWN BY

RO

BCALE

DATE

PROJECT

POLIGON  [RONNCOD (AZEROC 20

CHECKED BY

DWW, NO.

GHOWN | [-24 -90 e

2853 - BO|




~ WASHER
PLATE
211-309

_(2) ¥4" BOLTS, FIXED
/' WITH (2) ¥4° NUTS

' (2) 34" x 7" BOLTS THRU
- BOTH TENSION MBMBERS
AND COLUMN WITH ——
O (2) 9 N

PoLTS Wittt \
NUTS EACH SIDE

. (2) 1/2" x 6 1/2" HEX HEAD BOLTS
FILL WITH -~ — | ‘< o THROUGH BOTH ORNAMENT END
NON-SHRINKING ' “3/4" x 18" LAG PLATES AND COLUMN W/ (2) 1/2"NUTS |

- GROUT ANCHOR W/ 4" LEG

7“1\ PLAN VIEW @ TOP OF | /" 4"\ SECTION THROUGH COLUMN /" 7"\ DETAIL - ORNAMENT @ COLUMN

\__/ CoLuMN NTS. \__/ @BASE NTS. N

(9) #12 x 1" TRUSS
“HEAD SCREWS;

‘ (3) TOP; (3) SIDE;
(3) BOTTOM

-

'BOX 5x5x16GA.

; P
. ;7 ‘ - el

Wi

o e———— e stttk
»

! o ol

TRUSS -

BOX 7x5x14GA. {2) 3/4" x 2" BOLTS.
@ EACH TRUSS

COMPRESSION
RING

.16 POLIGON CATALOG

ary.

/" 2"\ SECTION THROUGH TRUSS 775"\ PLAN VIEW @ COMPRESSION

U @ PURLIN N.T.S. U‘Rme N.T.S.

o

REVIEWED & /,"720VED B

&Gl W bl BD

R. SULLIVAN, PE
R. SULLIV:Ad & ASSOCIATES
902 W. 9th ST.

S Ll

COMPRESSION,

EGEDVE
FEB - 9199

COMPRESSION
RING

N j C7x9 8
{2) 3/4" x 2" BOLTS
@ EACH TRUSS

TRUSS

coimsssgs

GOX16820.GW 16820 I |TTRAMN

(2) 3/4"x2" BOLTS
@ EACH TRUSS

A FARK & RECREATION
PLANNING & DESIGN

PROJECT

NOTES THIS DRAWING <ET Do
CONTAIN PACGE 4.

SHEET NO.

3

/"3 "\ SECTION THRU TRUSS @ /"6 "\ SECTION THRU TRUSS @
\__/SMALLCOMP.RING ~ N.TS \___/LARGECOMP.RING ~ N.TS

PATENT AND PATENT PENDING _COPYRIGHT © 1991 W. H. POR'




(3) SCREWS WITH WASHERS
12°0C.@TRUSS

(3) SCREWS WITH WA&%‘B&
12" 0.C. @ TRUSS TAILS -

992 W.H.PORTER, INC. | WAF

[ @) SCREWS WITH WASHERS

12" 0.C. @ TENSION MEMBER 902 W, 9th ST.

UPLAND, CA 91786-4542
BUS. (909) 946-8576
FAX (909) 9464924

| FOR PANEL CONNECTION DETALLS, |
~ SEE SHEET 6, DWG. NO. 283-461

IF INSTALLING A CUPOLA,
SEE SHEET 7, DWG. NO. 283-332

PARK & RECREATION
PLANNING & DESIGN

PATENT AND PATENT PENDING COPYRIGHT © 1




RIDGE BATTEN A COMPRESSION RING COVER.
FASTENED WITH ROOFING | o , 7
INAILS SUPPLIED BY OTHERS

jwoon SPLINE

Jog,

COMPRESSION RING

(Lgd ARDOX 6" 0.C:

/ 1 \'SECTION THROUGH RIDGE /4 "\ SECTION THROUGH SPLINE /7 "\ SECTION THROUGH SMALL

Ug@muss | NTS. U "N.T.S. a UCOMPRESSION RING N.TS.

- RIDGE BATTEN ,
'FASTENED WITH ROOFING
'NAILS SUPPLIED BY OTHERS

#14x6" SELF-TAPPING \
'SCREWS WITH WASHE

- CUT TO LENGTH AND ATTACH
W/ 8d ARDOX NAILS BEFORE

“\UNSTALLING FIN. FASCIA

({2 "\|SECTION THROUGH RIDGE _ /~5 "\SECTION THROUGH PURLIN

TER, INC. / WARRANTY INFO, P.16 POLIGC

COPYRIGHT © 1991 W. H. POR

'COMPRESSION RING COVER

\ ‘ e e o ARt Vot Y Jiuder WAUEY
: BEVIEWED &/ nbved b Y
- ROOF PANELS

#14 x 6" SELF TAPPING TRUSS HEAD SCREWS
WITH 1/4" x 1 1/4" FENDER WASHERS 8" 0.C.

PROJECT _PpOLIGON SHELTERS _

R. SULLIVAN, P.E. _
“ R, SULLIVAN & ASSOCIATES
% 902 W. Sth ST,
B UPLAND, CA 01786-4542
| ~ EJS. (009) 946-8576
| b, (£00) 0464924

8¢ COMMONS 6" 0.C. @ TOP

“

SUBFASCIA /

Z-»m COMPRESSION RING

EAVE BEAM

84 ARDOX 6" 0.C. @ BOTTOM

~EG 1Y E‘L@
Q| Fe8 -9 \995&

K ’& RECREATION
t& gﬁNNING % DESIGN
W

Brnomot

PATENT AND PATENT PENDING

SECTION THROUGH EAVE 6\ SECTION THROUGH LARGE
N.T.S. \___/ COMPRESSIONRING ~ N.T.S.




